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5. The sixth term in the expansion of (2x - y)8 is

(1) uusx3y? (2)

6. Factor completely:

-yu8x3yd

(3) 1792552 (1) 112x8y2 (5) -112x3y5

x4 - 3x3 + 8x - 24

(x+2) (x=3) (x?+Ux+16)

(1) x(x3-3x%+8) - 24 (2)  (x-3)(x+2) (x2-2x+1) (3)
(1) (x-2)(x-3)(x2+2x+k) (5)  (x=1)(x+3) (x2+x+8)
7 x2 +x-6 X2 - x -2
S & T (B
X' = 9 33X - X
(x-2)2(x+1) 6 - x x 1
(1) 3% (2) «x (3) 3 4 - g (5) 3
8 2 . X ~ 3x
* %-5 % - 25 %2 - ix - 5
) -2(x-T) (2) 2 - 2x 3) ‘ 2x + 3
(x-5) (x+5) (x+1) 2x2 - 3x - 35 <% = ux3 - 30x2 + 100x + 125
3 -2
B 5% L (x+5) (x+1)
9. Simplifys —L—X
yx71 - xy7!
(1) = & =L gy —X— oy B 5) —=
x-1+y-1 v - x x2+y2 Xy x+Yy
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(1) x=13 (2) X = (3) x = i (4) x = = (5) x = :
12. Solve: x(x-3) =14
(1) x=4orx=17 (2) x=-4orx=1 (3) x=—1-v-i23}ﬁ
() x=:t--£—'-7_ (5) x=4or x=-1
13, (3-20)7 =
3 2 1 b 1 1
1) ==+ — i 2 3 i Lip
()13+131 (2)3+21 (3)3 21
3 2
)y - e e
(%) 3+ 21 (5) 13 13 i
14. Solve: x2 + 2x = -5
(1) x==5o0r x = =7 (2) x=-1 21 (3) x=3o0rx=-2
() x=-1 %44 (5) none of these
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— = o B _ 2 . 3
15. Solve: s T5% m
(1) x=2o0r x=3 (2) x=2 (3) x=3 (4) x=-2 (5) no solution

16. Solve: +2x -3 + x=3

(1) x=2or x=256 (2) x=2 (3) x=6

. 2% =5
17. Find the solution set: ——3-— 8
(1) {x:-2sxsT} (2) {x:x2T} (3) {-2,7}
() {x:xs-2o0rx2T} (5) {x:x<-2o0r x>T}
18. Find the solution set: 3x ;6 <2
il
1) {x:-—l.:—g-<x<—:-} (2) {x:—l%SxS%} (3) {X:X<'3"}
In 16
4 = L= s P =R et
(4) {x : x 3} (5) {x :x 3}
x + 1
19. Find the solution set: ;‘—:-‘2— >0
(1) {x:-1<x<2} (2) {x:x>2} (3) {x:x<-1}
) {x: x>~} (5) {x:x<=1o0rx>2}

20. How many liters of a 50% alcohol solution must be added to 20 liters of a mixture
that is 25% alcohol to obtain a 30% alcohol solution?

ey &

(1) 50 (2) 15 () &R fuy n

(4) x =-1 % i/5  (5) no solution
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21.t Solve for x: xu + 2x° - 63 =0

22.

23.

24,

25.

26.

27.

(1) +/3, £7i (2) /T, +i/3 (3) /7, #31 (4)  +i/7, +3 (5) -7, 9

Find the solution set of 16%2 = x*t.

(1) {-3,4} (2) f{o,4} (3) {0,-4i,Hi} () {4} (5) {0,-4,4}

The domain of the function defined by f(x) = \/2x-x2 is
(1) {x:x=0and x = 2} (2) {x:0%xs2} (3) {x:xs0orx 22}

) {x :x 22} (5) {x:0<x<2}

If £(x) = 3x2 - 5 and g(x) = Ux + 1, then (f o g)(-1) =

(1) 70 (2) 22 (3) -7 ) 7 (5) 6

If £(x) = ==, then "' (x) =

(1) =2 (2) X (3) | == (H) et (5) none of these
x =1 X 1 -x 1+ x

Which of the following equations does not define a one-to~one function?

x + 1 1

(1) ¥ w— (2) y=3x-17 (3) y=x2-14x-5 (4) y =% (5) ¥y =

An equation of the line with x-intercept 2 and y-intercept -3 is

(1) y==x-3 (2) y=2x-3 (3) y=3x-2

2 . 3
() y= E-x +3 - (5) y= 5 X~ 3
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-28, The vertex of the parabola y = -x2 - 2x + 8 is

(1) =1 (2) (-1,11) (3) (0,8) () (=1,9) (5) 1,7

2 2

29. The center, C, and the radius, r, of the circle x + y© - 4x + 2y = 4 are
(1) c2,-1); r =9 (2) c(-2,1);r=2 (3) c(2,-1);r =3
(4) c(-2,1); r =14 (5) none of these

30. When 4 - 5x2 + 2x3 is divided by x - 2, the remainder is

(1) 8 (2) 2 (3) 22 (4) =32 (5) o

31. Counting multiplicities, the polynomial equation 3 - 5x + 3x3 i xu = 0 has

how many solutions?

(1) o (2) 2 (3) 3 (4) 4 (5) 8

32. The roots of the polynomial equation 2xu = 3x3 # 19x2 - 27x + 9 = 0 are

1 1

1 1.3 1 -
(1) 1, 5 @) 1, > 23 3) 1, > * 31 (&) -1, 5 & 31
(5) none of these
33. logg(125\3/25 ) =
7 10 1
1 F — 3 " ——
(1 3 (2) 3 (3) \\//5 (%) 3 (5) 5
34, Solve for x: logy(2x+1) - logy(x-1) = 2
(1) xa-1 (2) x=-2 (3) x=0 W xa2

(5) There is no solution.
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35

37.

38.

39.

40.

Solve for x: 2% « 4% =38

1
(1) x=1 (2) x =5 (3) x= %- (4) x =14 (5) none of these
%3
A logarithmic form of 2Y = -5 s
(1) y = log,x3 2) Lok a1 (3) y =2 - logyx3 )y = log,x
y gs 3 08X y g2 y =7 108
(5) none of these
xy =1 ;
If we solve the system , we find y =
2x -3y =5
1 1 3 1
1 L 2) 2, = - ) == 5) =2, =
1) > 3 (2) ' T3 (3)| =3 (4) 5 ( 3
X+ y+ 2= 0
When we solve the system 2x - y-2z= 6 , we find z =
x+3y- z=10
(1) 1 (2) 2 (3) =3 (4) -4 (5) 6
1 -2 3 1 2 is a triangular form of the augmented matrix
0 1 -1 2 2 associated with a particular system of equations.
0 0 1 1 3 The system of equations
0 0 0 0 [0}
(1) has no solution.
(2) has the unique solution (5,3,1,0).
(3) has the unique solution (-3,0,1,2).
(4) has the solution set {(Y4~c,1~3c,~2¢c,c) : c e R}.
(5) has the solution set {(3-l4c,5-3¢,3-c,c) : ce R}.
1 -1 3
2 1 3 =
=3 2 4y
(1) 36 (2) 17 (3) -4 (4) (5) 35




